AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

Check applicable FEDER	RAL CANDIDA	T E	STAT	E/LOCAL CA	NDIDATE
To Ava Window	ail Themselves w, Federal Can	of The Lov didates Mu	vest Unit Chast Sign The	arge During a Certification (Political On Page 3
	d Location: EO, KSN	/A, K	UPI/KQI	Date:	29/20
I,	David				
being/on behalf	_	elf_			, a legally
qualified candid		emocra			political
party for the off	ice of: Legy	Lative	Seat 37	B B	
in the		Geneva	:{	······································	
	eld on:	Nov =	ord 2020		
do hereby reque	est station time as fol	lows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	See	ata	hed		
Total Charg	es:	#10	102		

For programming that, in whole or in panational importance," list the matters be	art, "communicate clow:	s a message relating to	o any political matter of
			Markey (1987)
I represent that the payment for the abo		deast time has been fu	rnished by:
David	Roth		
and you are authorized to announce the I represent that this person or entity is ei committee/organization of the legally quantum of the	ither a legally qua	lified candidate or an a	r. authorized
The name of the treasurer of the candida	ate's authorized co	mmittee is:	
TOO W	John	Conquerço	nd
This station has disclosed to me its politiand discount, promotional and other sale	ical advertising no	licies including: ann	licable alegaes and means
THIS STATION DOES NOT DISCRI OF RACE OR ETHNICITY IN THE I	IMINATE OR PE PLACEMENT OI	ERMIT DISCRIMINA FADVERTISING.	ITION ON THE BASIS
To Be Signed By Can	didate or A	Authorized Coi	mmittee
16/28/20 (De	De SA		
/ Date		Signature	
To Be Signed B	By Station R	Representative	9
Accepted	Accepted i	in Part	Rejected
Just Hacker	Kerth	Walker	ASm
Signature	Printed N	ame	Title

Sales Order

KQEO-FM, KSNA-FM, KUPI-FM Stations: Buyer: Contract Name: RothforGrowth.Org Tax Schedule: (None) Contract#: (none) Agency Commission %: 0 Start Date: 10/29/20 End Date: 11/02/20 Billing Cycle: Standard _____Type; Cash Revenue Type: Local Direct Salesperson: 1414kwal Comm %: Makegood Policy: Within Contract Dates Advertiser: David Roth 2184 Channing Way #114 Address: City: Idaho Falls State: ID Zip: 83404 208-521-4446 Phone: Product Name: Legislative Seat 33B Competitive Code: Political

KQEO-FM

No	DAT	TES	Alt	TIM	1ES	LEN				DI	STRI	BUT	ION			0.75	тс	TALS	
	START	END	wks	START	END	LCIV	М	Υ	W	Ţ	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1_	10/29/20	11/01/20		6:00 AM	7:00 PM	30				6	6	6		18	D	12.00	18	216,00	
2	11/01/20	11/01/20		6:00 AM	7:00 PM	30							6	6	D	8.00	- 6	48.00	
3	11/02/20	11/02/20		6:00 AM	7:00 PM	30	6				-			6	D	12.00	6	72.00	

TOTAL GROSS \$336.00, NET \$336.00

KSNA-FM

No	DA	TES	Alt	TIN	TIMES			DISTRIBUTION									TOTALS		
	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	10/29/20	11/01/20		6:00 AM	7:00 PM	30				6	6	6		18	D	10.00	18	180.00	
2	11/01/20	11/01/20		6:00 AM	7:00 PM	30			1				6	6	D	6.00	6	36.00	
3	11/02/20	11/02/20	ì	6:00 AM	7:00 PM	30	6		1					6	D	10.00	6	60,00	77.2

TOTAL GROSS \$276.00, NET \$276.00

KUPI-FM

No	DAT	res	Alt	TIN	TIMES			DISTRIBUTION					тс	TALS					
	START	END	wks	START	END	LEN	М	T	W	Т	F	SA	SU	Per Wk	DΛV	RATE	SPOTS	\$\$	PTY
1	10/29/20	11/01/20		6:00 AM	7:00 PM	30				6	6	6		18	D	14.00	18	252.00	
2	11/01/20	11/01/20		6:00 AM	7:00 PM	30							6	6	D	9.00	6	54.00	
3	11/02/20	11/02/20		6:00 AM	7:00 PM	30	6						 	6	D	14.00	6	84.00	

TOTAL GROSS \$390.00, NET \$390.00

Billing Projections: By Month

Oct 20 Nov 20
CA 648.00 354.00
ST 0.00 1,002.00

Date: 10/28/20

Print Spot Prices	TOTAL SPOTS	90
	GROSS TOTAL \$	1,002.00
	ADJUSTED SPOTS	90
	ADJUSTED TOTAL \$	1,002.00
	APPROVE DECLINE	
······································	Traffic	
	Sales Manager	
	Credit	
	C Local Sales Manage	ſ